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PAPER 2 - FOUNDATION TIER

PAPER 2 (Calculator allowed) R FINAL MARK SCHEME
Foundation Tier Comments
1. (a) (242.68)
146.16  (tables) BI
87.5(0) (chairs) Bl
160.56  (cabinets) Bl
(£) 636.9(0) B1 F.T. their figures for 1 error
(b) Builder pays (£) 573.21 B2 F.T. their total rounded or truncated.
Must be in 2 dec. places for the B2
B1 for a correct 10% (£) 63.69.
2 dec. pl. NOT required for B1
6
2.
50g 500kg 50mg Bl
27 litres 27cm’  270litres BI
18m 180mm  1800cm Bl
266mm  266cm 266m BI
4
3. (a) Evidence of square counting M1
72 — 78 (inclusive) Al
3. (b) Lines B1
Arc B1 Correct curvature starting and ending at the candidate's 2
lines.
3.(c)c Bl If angle values used then they must be appropriate on
a B1 the diagram AND in the correct place on the answer line.
b B1
7
4. (a) Spring (S) 10, Summer (U) 15, Autumn (A) 8, B2 May be inferred from their bar chart.
Winter (W) 7 B1 for any two/three correct frequencies
If frequencies score 0, then give B1 for all 4 correct tallies.
Both axes labelled, e.g. frequency along one axis and B2 Bl if no scale, but allow one square to represent 1
Spring (S), Summer (U), Autumn (A), Winter (W) along OR BI if not labelled as ‘frequency’ or similar.
other axis (or on the bars) If frequency scale starts with 1 at the top of the first square
Anywhere within the base (inc.) of the corres. bar, the starting at 0 will be implied for this axis.
and uniform scale for the frequency axis starting at 0 and Condone frequency numbers alongside square instead of
labelled “frequency’ OR ‘number of pupils’. at the top of the squares.
Four bars at correct heights (bars must be of B2 F.T. their frequencies thronghout.
equal width). Can be in any order. B1 for any 2 or 3 correct bars on F.T.
If no frequencies given in their working, penalise —1 for
each incorrect frequency on their bars up to —4 (First and
third B2s)
(b) Summer ORU Bl Accept 15 and (Summer OR U), but B0 for 15 only
(c) 7/40 LS.W. B2 B1 for the 7 (in a fraction < 1) OR B1 for a denominator of
'their 40' (in a fraction < 1). F.T. their frequencies.
Penalise —1 for incorrect notation, e.g. *7 out of 40°, “7:40°
Allow decimals and percentages including on F.T.
5 For example, (0).175 or 17.5% for 7/40

©WJEC CBAC Ltd.
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PAPER 2 (Calculator allowed) FINAL MARK SCHEME
: . Marks
Foundation Tier Comments
5.(a)
C A B Bl A should be between 1% and % (Accept P for A).
! il E A shou'ld be to the right of the halfwax- and up to
0 1 alongside the gap between the a and 1 in ball (OR
between & and | in pél in the Welsh version)
Bl B should be at 1.
Bl C should be between 0 and %  (Accept G for C).
C should be to the right of the 0 and up to alongside the y
in probability (OR the v in tebygolrwydd in the Welsh
version)
(b) likely Bl
4
6. (%) (0).25 (25%) Bl
any fraction equiv. to 6/10 (0.6) 60(% B1,B1 | ISW for the fractions 6/10 and %
any fraction equiv. to % (0.75) (75%) Bl Do not accept fractions like 7.5/10
4
All triangles must be 'base' side to 'base' side
7. (a) Rhombus OR square Bl Mark name first then sketch
Sketch Bl B0 for what looks more like a parallelogram than rhombus
7. (b) Kite Bl Mark name first then sketch
Sketch B1
4
8.(a) (i) Decrease previous term by 7 B1 Accept —7. B0 forn—7
(if) Multiply previous term by —2 Bl Accept x —2 B0 for n x -2
8. (b)) 10w Bl Allow 10xw, wx10 and w10. Ignore any g(rams)
Ignore w=and =w
(i) x—6 and x+ 6 Bl For both
8. (c) 1/9 x45=135 and 4x5 Ml Any correct method
=20 Al
8. (d) 5x4=2P+3x—4 B1 Correct substitution, not awarded until the 2 multiplications
are seen to be implemented. Sight of 20 and —12 gets Bl
2P=20+12 OR 32 B1 F.T.
P=16 Bl P=32/2 gets BO. Must be 16
F.T. P = 'their 32'/2.
Allow embedded answers, such as 20 = 2x16 — 12.
8.(e) 4x =18 B1 Must be 18 NOT 21-3
(x =)4% OR 4.5 Bl | (x=) 18/4 gets B0. (x=) 9/2 gets B0
11
9. (a) yuan = 700 x 9,79 Ml
= 6853 (yuan) ISW Al Yuan not required but A0 for £6853
9. (b) Pounds = 2447.5/9.79 M1
= (£)250 ISW Al £ not required but A0 for 250 yuan
4
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PAPER 2 (Calculator allowed) Wil FINAL MARK SCHEME
Foundation Tier Comments
10. (@) (10) 17 24 31 Bl
(b) (35 31) 27 23 19 B1
(c) (Yes) because 100 is 60 away and 60 is divisible by E2 E2 for 6210 + 40 OR equivalent, e.g. Yes, in 10 steps (E2)
6 El for considering 60 with an indication of steps of 6
e.g. listing all numbers between 40 to 100.
(d) After 5 steps Bl 75 can be answered in lists, but the 5 must be given as an
75 Bl answer.
(e) Starting numbers are 44 apart. Bl Allow B1 for sight of 44 OR 40 by comparing 21 and 61
after one step etc.
44 is divisible by 4 Bl SC1 for only listing the correct sequences.
8
i Look for the angles shown in their diagram
11. (@) (ACB )=60(°) Bl (Angles of an equilateral triangle are 60°)
(BCE) =45 (°) Bl | (Half the angle of a square is 45°)
(ACE) =105 (%) Bl |C.A.O.
105(°) with NO supporting work gets 0.
11. (a) (continued)
QW QWC
Lock. for - 2 QWC2 Presents relevant material in a coherent and logical

e  Spelling . : .

. . manner, using acceptable mathematical form, and with few

e Clarity of text faxplanatlons if any errors in spelling, punctuation and grammar.

®  Some geometrical statements, e.g. angles of a
equilateral triangle are 60°

QWC2: Candidates will be expected to QWCT1 Presents relevant material in a coherent and logical

e present work clearly, with words explaining their manner but with some errors in use of mathematical form,

processes or steps spelling, punctuation or grammar,
AND OR —

e  make few if any mistakes in mathematical form, Evident weaknesses in organisation of material but using
spelling, punctuation and grammar and include acce}?tab]e matherpatical form, with few if any errors in
units in their final answer spelling, punctuation and grammar.

QWCT1: Candidates will be expected to
g izzzzzgﬁfsié;fly’ with words explaining their QWCQ Evident weaknesses in organisation of material, and
OR errors in use of mathematical form, spelling

e make few if any mistakes in mathematical form,
spelling, punctuation and grammar and include
units in their final answer

If no pair of compasses used (i.e no arcs) then 0 for their
work in (b) and (¢)
11. (b) First arcs B1
Final arcs and line B1
11. (c) First arcs Bl They can use the points A and B for this first B1
Final arcs and line B1 Remember the 2 methods discussed in the conference.
9
Use Overlay Use Overlay
12.  Bearing from Holyhead M1 Within +2°.  Watch out for unambiguous 'dots' within
Bearing from Cardigan M1 Within £2°  the boundaries of the overlay and award M1s
Position of Ship Al F.T. provided at least M1
One unambiguous 'dot' within the 'box' on the overla
gets all 3 marks. o
3

©WJEC CBAC Lid.

13




PAPER 2 (Calculator allowed)

FINAL MARK SCHEME

Foundation Tier Marks Comments
13. One correct evaluation (1 dec.pl.) of x°—7x—2 Calculations should be accurate to 1 decimal place rounded
2<x £3 i Bl or truncated
Watch for pupils who are trying to make x’~7x equal to 2 If no calculations are given accept use of “too low” or “tpo
rather than x'~7x—2 equal to 0. high” OR >0 and <0.
Two correct evaluations (1 dec.pl.) x°~7x—2 B1 Useful Data
265 <x < 285
which give opposite signs for f(x).
LS HRpOERIEhatbn ) 2 3 27 <1217 | 265 -1.0404
Two correct (OR F.T.) evaluations (1 dec.pl.) Mil 2.1 -7.4390 271 -1.067489 | 266 -1.7989
275 < x < 2.85 22 -6.7520 272 -0.916352 | 267 -1.6558
which give opposite signs for f(x). 23 -5.9330 273 -0.763583 | 268 -1.5112
24 -4.9760 274 -0.609176 | 2.69 -1.3649
Thus solution is 2.8 correct to 1 decimal place. Al 25 -3.8750 275 -0453125 | 2.8  0.3520
2.6 -2.6240 2,76 -0.295424 | 2.81 0.5180
Note that candidates must give a method that proves the 2.7  -1.2170 2.77 -0.136067 | 2.82  0.6858
solution is 2.8 correct to 1 decimal place. 28 03520 278  0.024952 283 0.8552
Just stating 0.3520 is closer than —1.217 is NOT encugh 29 2.0890 279  0.187639 2.84 1.0263
4 3 4 2.8 0.352 2.85  1.1991
14.(a) 23 (m) B1
(b) (12+24)+4 M1
9 (car lengths) Al
(©
Speed
mph | km/ M1 Evidence of a method, e.g. +5 and x8, or x5 and =8 as
h appropriate, or sight of a correct scale, e.g. 80 x 30 /50
30 48 A2 Al for either answer correct. Also implies M1
70 112
(d)15+030x15 OR 38+020x38o0r equivalents M1
19.5 and 45.6 A2 Al for either correct answer. Accept 20 and 46
65(.1 m) Al FT from M1, Al
FT from rounding to ‘their 20°+ ‘their 46 ‘= 66(m)
Unsupported 65 or 66 gain full credit
If no marks, award SC1 for an answer of 12.1 or 12
(giving the increase not the total).
10
15. 654 a Bl Accept truncated or
173.31 b Bl FT. | ax0265 rounded answers
203.76 c B1 FT. |b+3045
10.18(8) d Bl FT. | ¢x005 BO.if105% given here
171.58(8) e B1 FT. [ec+d—4236
20.91(2) CR B1 FT. |e-19250 Allow+2p
Answers in the bill take precedence over answers on the If their total cost is < 192.50 then their final balance must
'working lines' below it. 6 show —or CR. Iftheir total cost is > 192.50 then BO.
16. (a) Area=1"% x 8.6 x 4.1 M1
17.6(3 cm?) Al
(b) (AB*=) 86°+4.1> OR 73.96 +16.81 M1 | Correct substitution in Pythagoras' Theorem
(AB%*=)90.77 Al This work could be seen in (a) and should be credited
(AB) =9.5(273..) (cm) Al | appropriately.
Perimeter = 12.7 + 9.5 =22.2 (cm) M1 ET their 8.6+4.1+ 'their AB if from Pythagoras work'
=22 (cm) Al Given to 2 sig. figs.
7
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